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1. Three bowls are labeled 1, 2, and 3, respectively. Bowl! i contains / white and 5-i red balls. In an

experiment, a bowl is randomly selected from the set of three bowls. Then, 3 balls are randomly
selected without replacement from the contents of the selected bowl.

a. Given that bowl 1 was NOT selected, what is the probability gf drawing exactly 2 red( balls?
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b. What is the probability that exactly 2 red balls are drawn?
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¢. Given that exactly 2 red balls were drawn, what is the probability that bowl 3 was selected?
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